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✩ Addition

4 0
+ 3 0
70

8 0
+ 8 0
I60

2 0
+ 5 0

70

9 0
+ 3 0

I20

1 0
+ 1 0

20

7 0
+ 5 0

I20

8 0
+ 4 0

I20

5 0
+ 3 0

80

6 0
+ 8 0

I40

5 0
+ 5 0

I00

2 0
+ 1 0

30

3 0
+ 2 0

50

4 0
+ 7 0

I I0

90

2 0
+ 4 0

60

9 0
+ 4 0

I30

1 0
+ 3 0

40

Find each sum.

Find each sum.

70 + 20 =

I2060 + 60 =

9020 + 70 =

I5090 + 60 =

I5080 + 70 =

6030 + 30 =

I6070 + 90 =

8040 + 40 =

5010 + 40 =

I5050 + 100 =

3010 + 20 =

9080 + 10 =
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Point out to children that even though they are adding two-digit 
numbers, they can write a zero in the ones place in each answer,  

because they are adding 10s.
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Addition

4 0
+3 0

70

8 0
+8 0
I60

2 0
+5 0

70

9 0
+3 0
I20

1 0
+1 0

20

7 0
+5 0
I20

8 0
+4 0
I20

5 0
+3 0

80

6 0
+8 0
I40

5 0
+5 0
I00

2 0
+1 0

30

3 0
+2 0

50

4 0
+7 0
I I0

90

2 0
+4 0

60

9 0
+4 0
I30

1 0
+3 0

40

Find each sum.

Find each sum.

70 + 20 =

I2060 + 60 =

9020 + 70 =

I5090 + 60 =

I5080 + 70 =

6030 + 30 =

I6070 + 90 =

8040 + 40 =

5010 + 40 =

I5050 + 100 =

3010 + 20 =

9080 + 10 =


